Unit #8 — Year in Review
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Unit 1 - Limits
Beginning in box #1, answer the question. Use that answer to find your next problem.
Ans: o Ans: O
#1 #
| G
Find f(-1). lim2Tx 2
x=0 x
Ans: DNE (and not oo or -o2) Ans: 0.249
;. i .
X —4x 4 3x-12 i x+3-43
flx) = 7 i
x—6x+8 il
f(x)hasaholeatx=72
Ans: 3 Ans: -1
#- . -
. : x? -1
Find JIEEI flx) lim

e=ixitx—2

Ans: 2 Ans: -2
= b
x
lim —
g-l= xe — 1

i (4 4+ Ax) = 3(4 + Ax) — 4
e.xTc- Ax
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Ans: -3

bl

) = x2—5x+6
Flx T a4 2x—15

F(x]) has a vertical asymptote atx =7,

Ans: 4

ad

s ) ={ 35 oy continuous atx=07
g5 - 1‘2+1_x20 CONTINUOUSs at X = LU

If yes, it is continuous, then go find the Ans: -2,

If no, it is not continuous, then go find the Ans: 5.

Ans; -00 Ans: 5
# #
Find Jim, f(x) /-. Find f(1).
' 1
1 L 1 J L 1
Ans: 0.289 Ans: -3
A B
-
e | x==5x+6
= ? i = 7 x.] = . R T
I f(x) [2x—3,x <1 continuousatx =17 f{ e T T
If ves, it is continuous, then go find the Ans: 3.
If no, it is not continuous, then go find the Ans: -4, f(x) has a removable discontinuity atx = 7.
Ans: -4 Ans: 1
5 ¥
. X 1.9 199 [1.999 |2 ] 2.001 | 2.01 2.1
Find x'l“_!l fl:x_} ff_?(] .‘1 .E E - ﬂ E F
1 U‘"‘l - i Filling in the table above, what value would

take the place of £7 (Round to three places.)
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